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The forecast for each period is 35 units. The starting inventory is 66. The MPS
rule is to schedule production if the projected inventory on hand is negative. The

production lot size is 70 units. The following table shows committed orders.

Determine the projected on-hand inventory, MPS and ATP for each period.

Starting Inv.=66 1 2 3 4 5 6
Forecast 35 35 35 35 35 35
Customer orders 40 36 31 23 18 6
Projected on-hand
inventory

MPS

ATP
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Demand for long-stemmed red roses at a small flower shop can be approximated
using a Poisson distribution that has a mean of three dozen per day. Profit on the
roses is $4 per dozen. Leftover flowers are marked down and sold the next day at a
loss of $3 per dozen. Assume that all marked-down flowers are sold. What are the

optimal stocking level and expect profit?
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Processing times and due dates for five jobs waiting to be processed at a work
center are given in the following table. Determine: (1) the sequence of jobs, (2) the
average flow time, (3) average tardiness, and (4) average number of jobs at the

work center, for EDD rule?

Job ”Ff;iifl?;ls% Due Date(days)
A 4 10
B 6 14
C 3 2
D 2 6
E 5 16



